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Statistics

1) A basketball player averaged 17 points in his first eight games and 24 points in his next six games.  What is his overall average for the 14 games? (2) 2004-WU8-2
2) Bobby’s grade in math class is based on five test scores.  He has scores of 73, 83 and 90 on his first three tests.  What score will Bobby have to average on the last two tests to get an overall average of exactly 80? (2) 2004-WU9-2
3) If a set of seven positive integers has a mean of 5, what is the greatest possible integer in the set? (1) 2004-WU5-6
4) A collection of seven positive integers has median 3 and unique mode 4.  If the collection has two 2s added to it, the median and unique mode are then both 2.  What is the mean of the new collection? (2) 2004-WU15-7
5) Sarah will have seven test scores.  Each of the scores is an integer value.  The first five scores are 82, 87, 92, 96 and 98.  How many distinct values are possible for the median of Sarah’s seven scores once she takes the last two tests? (2) 2004-WU17-2
6) The following clues describe a list of five integers.


Two of the numbers are negative.


The median value is 8, the mean value is 18.6, and the range is 60.


One of the numbers is a perfect square, and one of the numbers is one 

more than a perfect square.


The difference between the least two integers is 6.


What is the greatest of the five integers in this list? (3) 2004-WU17-7
7) In a school of 100 students, 90 study Latin, 75 study Spanish and 42 study French.  Every student must study at least one of the three languages.  What is the least possible number of students who could be studying all three languages? (1) 2004-WU18-1
8) What is the median of the composite integers that are greater than 20 and less than 35? (1) 1999-WU3-3
9) The mean of four numbers is 70.  When a fifth number is added, the mean decreases to 60.  What is the fifth number? (1) 1999-WU17-9
10) 36 students took a final exam on which the passing score was 70.  The mean of those who passed was 78, the mean score of those who failed was 60, and the mean of all scores was 71.  How many students did not pass the exam? (3) 1999-WO3-9
11) 200 students at Washington Middle School were surveyed about their after-school activities.




57 participated in basketball




113 participated in MATHCOUNTS




46 participated in neither activity

How many students participated in both activities? (2) 1999-WO6-6
12) Alex received scores of 96, 90, 84 and 88 on her first four exams.  What average score does she need on the next two exams to achieve a final average score of 92? (2) 1999-WO7-3
13) Two Algebra classes at Western View Middle School took the same test.  The first class of 22 students had an average score of 74, and the second class of 30 students had an average score of 79.  What was the average score for all of the students in both classes? (2) 1999-WU9-4
14) What is the median of the prime numbers between 20 and 50? (1) 2000-WU3-8
15) The mean of a set of three numbers is 36.  The number 40 is removed from the set.  By how much is the mean reduced? (2) 2000-WU6-5
16) The mean of a set of 14 numbers is 40, and the mean of another set of 26 numbers is 60.  What is the mean of the combined set of numbers? (2) 2000-WO7-4
17) The mean of Larry’s math scores was 86.  He scored 94 on his most recent test, raising his mean to 88.  How many tests has he taken? (3) 2000-WU14-7

18) Eric’s average score for four algebra tests is 72.  Jason scored 10 points more than Eric on each of the first three tests.  On the fourth test, Jason scored 6 points less than Eric.  What is Jason’s average score for these tests? (3) 2003-WO1-6

19) A survey of 2000 shoppers showed that 1400 shop at M-Mart, 850 shop at Glen Valley and 390 shop at both stores.  What percent of the shoppers do not shop at either store? (2) 2002-WU6-1 

20) The arithmetic mean of x, 50, 53, 21 and 75 is greater than 55 and less than 70.  How many possible integer values are there for x? (3) 2002-WO6-2

21) The median of {20, x, 15, 30, 25} is 0.4 less than the mean.  If x is a whole number, what is the sum of all possible values of x? (3) 2002-WO6-9

22) The median, y, of the set {x, y, 8, 11, 19} is 1 greater than the mean, and x and y are positive integers.  What is the maximum possible value for y ( x? (3) 2002-WO8-10
23) Patty’s brother gets a weekly allowance of $13.  Patty’s allowance is determined by rolling two fair dice and taking the sum, in dollars, of the numbers rolled.  Each die has six faces with a number on each face.  The numbers on each dice are: 1, 5, 5, 10, 10 and 20.  By how many dollars can she expect her mean weekly allowance to exceed that of her brother’s? (3) 2002-WO9-3

24) The average low temperature of the last five days is 13º C.  With today’s low temperature, the average for the last six days is 8.5º C.  Calculate today’s low temperature. (1) 1997-WU8-10
25) The mean of a set of 50 numbers is 38.  Two of the numbers (45 and 55, are discarded.  What is the mean of the remaining set of numbers? Round to the nearest tenth. (1) 1997-WO9-3
26) On a particular day, 100 airplanes depart from an airport.  Ten of the planes are delayed by an hour each.  Of the remaining planes, half are on time and half are delayed by 20 minutes.  What is average flight delay? (1) 2001-WU6-2    
27) Suppose Keith’s average score on four English tests is 85.  The average of his three highest scores is 88.5 and the average of his three lowest scores is 82.5.  What is the average of his highest and lowest test scores? (3) 2001-WU7-6    
28) Kelly’s average score on four Spanish tests is 85.5.  The average of her three highest scores is 87 and her two lowest scores are equal.  What is the average of her two highest test scores? (3) 2001-WO2-4    
